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QUESTION 1

An Hitachi Data Systems customer is planning to use HiCommand Device Manager (HDvM) to manage their TrueCopy
pairs on a Universal Storage Platform. Which two are required before TrueCopy pairs can be created with HiCommand
Device Manager? (Choose two.)

A. The P-VOL must be defined as a Command Device.

B. The HDvVM host agent must be installed on the CCI server(s).

C. The MCU-RCU path must be defined using the Storage Navigator.

D. The HORCM configuration files must be created on the CCI server.

Correct Answer: BC

QUESTION 2

While testing a TrueCopy Asynchronous implementation, the pairs in a Copy Group suspend unexpectedly. It is
determined that the suspend is due to a sidefile puncture. Which three criteria must be considered when determining the
cause of the sidefile puncture? (Choose three.)

A. insufficient journal space

B. insufficient cache memory

C. remote link distance too long

D. insufficient remote link bandwidth

E. excessive contention on secondary Array Groups

Correct Answer: BDE

QUESTION 3

On the Storage Navigator frame for a TrueCopy pair operation, the "Status" column indicates PDUB. What is the status
of the pairs indicating PDUB?

A. This is a TrueCopy LUSE status of a pair suspended error.

B. This status indicates that the TrueCopy pair is in the initial copy.

C. One or more LDEV pairs are SMPL on a TrueCopy LUSE volume.

D. The status of the TrueCopy software LUSE volume is in the initial copy.

Correct Answer: C
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QUESTION 4

A customer would like to view the pool usage for a Copy-on-Write SnapShot (CoW) environment using
CCl.

Which CCI command should the customer use?
A.

ingraid -p pid

B.

raidscan -p pid

C.

pairdisplay -p pid

D.

raidvchkscan -v pid

Correct Answer: D

QUESTION 5

An Hitachi Data Systems customer is implementing a TrueCopy solution on a Universal Storage Platform (USP) with
Consistency Groups. When using Storage Navigator, which option in the TrueCopy Configuration Options panel must
be selected to define the Consistency Groups?

A. Pair Options

B. RCU Options

C. Usage Monitor

D. Async Options

Correct Answer: D
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